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SECOND REVISION TEST 2025

standard Xl

MATHEMATICS
Part-A

[a

fime :3.00 hrs
. Choose the correct answer:

1. LetA and B be subsets of the universal set N, the set of natural nu

A’ U [(AnB) UBis

a) A b) A c)B‘

Reg No. rl

T

“d) N

Marks : 90
20x1=20

mbérs. Then

2. LetX={1,2,3,4},Y = {a,b,c,d} and f = {(1,), (4,b),(2,0), 3,d), (2,d)}. Then fis

a) an one-to-one function
c) - a function which is not one-to-one
3. The number of solutions of x2 + |x— 1] = 1 is

“10.

ik S 1 g ST A
) [_1 0}- c)\_[“of_.J

b) an onto function
d) not a function .

i
4

. a) 1 b O c) 2 e d) %
4. Which of the following is not.true? , - Y
a) sinez”T3 'b) cos 9 = —1 . ©) tah9=25' d) 3909—
cos6x+6cos4x+15c0s2x+10 . |
> cos5x+5cos3x+10cos x 5 qual to e :
a) cos 2x - b) cosx . c)cos 3x - d) 2cosx
" 6. The number of 5 digit numbers all digits of which are odd |s L
- 'a) 25 b) 5° - @) ~d) 625 .
7. Thevalueof2+4+6+ ....... +2nis. -’
8. The Value of 57 2| 4| T 6|+ IS
; A
- a) e2;1 B A ﬁE;ﬂ.)_ c)ii d) e—1
| 3 ;
9. The slope of the Ime which makes an angle, 45° wnth the Ime 3xX—-y= —5 are ,
it RNy otd d) 2,-3
The image of the' point (2,3) in the line'y = —xis " s
a) (-3,-2) b) (-3,2) ) (2-9) d) (3.2)
L g v i
1. if A=l 4 | then forwhat value of A, A2= 07 | )
a0 b). +1 . o) s
'12ThematA ‘ 13A ) M
3 X sf'J‘“Sf}’lng the eqdatlon 0o 1177 lo —qlis
‘;',_,~. . d 1 :
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€ctor makes equal angle with the positive direction of the coordinate
each angletis equal to . ' axes. Then

a) cos"1(—;- b) -cos‘1%) c) cos“(j?) d) cps—-1[_2_J

J3
14. )l(_inoo Si:x = |
a) 1 D)0 ©) w d)—eo
. : d : '
15. If y = sin™1 = =
y =sin~’x, then IR |
1 .-.-] ) . g
) 1 St 1
1-x2 ®) Ji-x2 9 Ve D 2
' 2
16. If x =asing, y=bcose, then "—Z is
. 5 dx< A
N B epn? b, ' y
a) —=-sec<o =b gec? =bgecd =
) b2 ' b) —-sec®6 . .c) 82890 .9. d) -a%sec%
17. fcosecx dx ' .
" a) log|cosec x + cot x|+c ' " b) logjcose
c) cotx+c i | d;Slglx+ch COtXI+C
18, |- s
_1 '
a) logle*| - log|eX - 1|+c - b) 'Iogle"|+lo |
gleX-1|+c
- C) logleX—1|-logleX| +c | d) logle* + 1| - logleX| + ¢

l; ?g;: events Aand B are mdependent such that P(A) = 0.35 and P(AUB) = 0 6, then
is :

5

a) = : ‘
o3 b) 75" Y 3 ' 9 5
en coins are tossed, The probability of getting atleast 8 heads i is
3
a) N, 1 L .
_ 64 b) 37 & : DTS d) %
Part - B

il.

21,
22,

23.
24,

Answer any 7 questions. (Q.No.30 is compulsory)

Graph the function y=|x—1|
Solve : [x-9|<2

7x2=14

121

Find the value of —- 53l .

Find the slope of the straight Iine assi | :
o o ng th the points
the angle of inclination of the line pwuth thg vaxis £ri (5 7) and (7,5). Also find
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0 sinat  cosa
. A=|sina 0 sinf
.4 [A] if
25. pind A cosa ~sinp 0

.5 Find the area of the parallelogram whose adjacent sides are 3=3i+j+4k and

, bati=jak
97. Find the derivative of y = cos x = 2 tan X with respect to x.
2x+4
oft B - dx
8. Evaluate : ! Rty B €
29, 1f P(A) = 0.52, P(B) = 0.43 and P(ANB) = 0.24, then find P(A AB) -

easure.
Part-C

. Answerany7 questions. (Q.No.40 is compulsory)
{. A={1,234}andB= {3,4,5,6}, find n((AuB) x (AmB) x (AAB))

1
32 Solve: (2x+ 1)2=(3x+2)?=0

30. Express the angle 150° in radian m
7x3=21

. sin75°-sin15°
3. Simplify
3. Simplity cos75° +cos15°

34 Find the rank of the word “GARDEN
25 Find the distance between two para
5. li(k,2),(2.4)and (3,2)are vertices 0

the value of k. B 4
37 Let A, B and C be the vertices of a triangle. Let D, E and F be the mid points of the

sides BC, CA and AB respectively. Show that AD +BE +CF =0

llel lines 3x + 4y = 12and 6x +8y +1=0
fthe triangle of area 4 square units then determine

-—

35 Fing & ifx =a(t-sint),y = a(1= cos ¥

39, Integrate eX(tan x + log sec x) | & _
49, if £ and B are independent events such that P(A) = 0.4 and P(AUB) = 0.9. Find P(B)

Part-D
V. Answer all the questions. i 7x5=3
41. 2) if{:R— Risdefined by f(x) =2x -3, prove that fis a bijection and find its inve;se5
(OR) = g ;

b) Afirm manufactures PVC pipes in thrée plants viz X, Y and Z. The i it
VO!:TOErS from the three firms X, Y and Z are respectively 2000 ucr’\iatiy gE)OdUCh?n
2?8ntdxj?4 O1/m{:ts. It is known from the past experience that 3% of the 'out 00 units
o o from plant y and 2% from plant Z are defective. A pipe js s lput from
) Find lhm a day’s (otal production. N elected at
D i e probabjlity that the selected pipe is defective one '

€ selected pipe is @ defective, then what is the probgpy -
produced by plant Y? bility tha it was.
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42

43.

44.

45.

b).

46,

47.

b)

b)

represent two stralght lines.
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o X+l .
Solve : 13 3 '
(OR)
Find the value of sin 18°

If A+ B + C = 180°, prove that sin 2A + sin 2B + 8in 2C = 4 gsin Asin B sin C

(OR)
By the principle of Mathematical induction, prove that forn = 1

n§n+1!§n+2[

1.2+23+34 4.0 AN )= =3

Find I\S/”"

Integrate 9x e3" A
For what value of k does the equation 12x2 + 2kxy +2y2 + 1Mx -5y +2=0

( OR)‘

(OR)
X a ‘a
Show that [# X 2 = (x-a) (x+2a) by using factor theorem
a2 a x
Prove that the medians of a triangle are concurrent.
' (OR). -
Find the constant b that makes g continuous on ( 0, 00)
x2 _p2 if x<4
bx+20 if x>4
ify= sin”'x shew that (1 — x3)y,— 3xy; =y =0
CV1-x2 02 LR RS
e (OR)

: \¥Y :#_2 |
_Resolve into’ partial frac_:tlon‘:'l Z)x=1)

HAkRRRANKX
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